
問題１１

sinθ − cosθ =
1√
2
のとき、次の式の値を求めよ。

(1) sinθ cosθ (2) sin3 θ − cos3 θ (3) sinθ + cosθ

【解説】
a3 − b3 = a3 + (−b)3より、a3 − b3は aと −bの対称式とみなすことができます。

【解答】
(1)

sinθ − cosθ =
1√
2

(sinθ − cosθ)2 = ( 1√
2

)2 J両辺 2乗した

sin2 θ − 2 sinθ cosθ + cos2 θ =
1
2

1− 2 sinθ cosθ =
1
2
J sin2 θ + cos2 θ = 1より

2 sinθ cosθ =
1
2

∴ sinθ cosθ =
1
4

(2)
sin3 θ − cos3 θ = sin3θ + (− cosθ)3 J sinθと − cosθの対称式

=
{
sinθ + (− cosθ)

}
−3 sinθ(− cosθ)

{
sinθ + (− cosθ)

}

⇑ a3 + b3 = (a + b)3 − 3ab(a + b)の公式に a = sinθ, b = cosθをそれぞれ代入

= (sinθ − cosθ)3 + 3 sinθ cosθ(sinθ − cosθ)

= ( 1√
2

)3 + 3 1
4

1√
2

=
5
8

√
2

1



(3)
(sinθ + cosθ)2 = sin2 θ + 2 sinθ cosθ + cos2 θ

= 1 + 2 sinθ cosθ J sin2 θ + cos2 θ = 1より

= 1 + 2 1
4
J sinθ cosθ =

1
4
を代入した

=
3
2

∴ sinθ + cosθ = ±
√

3
2

= ±
√

6
2
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